Midterm Exam - December 6, 2017, Stochastic Processes
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No calculators or electronic devices are allowed. One formula sheet with 15 formulas is allowed.

In English:

1. There are six balls in two boxes. Three balls are red, three are blue. In one round I randomly pick a ball
from the left box and another ball from the right box and I interchange the two balls.

(a) I repeat this procedure for a long time and then look at the boxes. What is the probability that
there are two red balls in the left box?

(b) Currently there are no red balls in the left box. What is the expected number of rounds until I see
zero red balls in the left box again?

(¢) Currently there are no red balls in the left box. I keep interchanging balls until I find zero red balls
in the left box again. In this time interval, what is the expected number of rounds when there are
three red balls in the left box?

2. We model the spread of an infectious disease as follows. A contaminated person infects X other people
before he/she recovers, where

Initially there is one infected person.
(a) Write down the generating function of the number of people that caught the disease from the initial
person.

(b) Write down the generating function of the number of people that caught the disease from a person
that the initial person infected.

(c) Calculate the probability of a world-wide epidemic outbreak.

Magyarul:

1. Hat goly6 van két dobozban. Harom goly6 piros, harom kék. Egy forduloban véletlenszertien valasztok
egy golyot a bal oldali dobozbdl és egy masikat a jobb oldali dobozbél, és kicserélem 6ket.

(a) Ezt a procedurat sokaig folytatom, majd ranézek a dobozokra. Mi a valoszintisége annak, hogy kettd
piros golyot latok a bal oldali dobozban?

(b) Most nincs piros golyo a bal oldali dobozban. Varhatéan hany fordulé mulva lesz jra nulla piros
goly6 a bal oldali dobozban?

(¢) Most nincs piros golyo a bal oldali dobozban. Addig cserélgetem a golyokat, amig Gjra nem lesz
piros goly6 a bal oldali dobozban. Ebben az idéintervallumban varhatéan hany olyan fordulé volt,
amikor harom piros goly6 volt a bal oldali dobozban?

2. Egy fert6z6 betegség terjedését modellezziik. Egy fert6zott személy X masik személyt fert6z meg, mielGtt
meggyogyul, ahol

Kezdetben egy fert6zott személy van.

(a) Irjale azon személyek szamanak generatorfiiggvényét, akik a kezdeti személytol kaptéak el a fertozést.

(b) Irja le azon személyek szamanak generatorfiiggvényét, akik egy, a kezdeti személy altal megfert6zott
személytdl kaptak el a fertGzést.

(¢) Szamitsa ki a vilagméretd jarvany kitorésének valoszintségét.



